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Note - 

1. All Questions are compulsory. 

2. There are two parts- Section A and Section-B in the question paper. 

3. In Section A Q.No. 1 to 4 are objective types question.  

4. Internal options are given in Question No. 5 to 16 is section-B. 

5. Q.Nos. 5 to 11 each question carries 4 marks each. (Words limit 

approximate 75 words) 

6. Q.No. 12 to 14 each question carries 5 marks each. (Words limit 

approximate 125 words) 
7. Q.No. 15 to 16 each question carries 6 marks each. (Words limit 

approximate 150 words) 
 
 
 
 



-�./�(�

Section A 
&'���#�����

69&�����6�
@��� � � � � � � � �

� Choose the correct Answer�

� (i)� =�=��A2�6
.�6�(����6��@B�����2���)�

� � (i)�C=�������� (ii)�=
�6��(iii)  (�������(iv)�(
����

�  Red Blood corpuscles are found in 

  (i) Spleen (ii) Lymph (iii) Stomach (iv) Bone Marrow�

� (ii)� D�D/E����6��6��!��)�

� � (i)��A2�F������(ii) %���@��&������(iii) �A2 ��3G�6����� � �

� � (iv)��A2�6��
���!.��6����

� � Functions of Lungs are 

  (i) Filtration of Blood (ii) Digestion of food (iii) Purification of 

   Blood (iv) Formation of Blood�

� (iii)� ��/E����������6���3-��6�B '��)�"�

� � (i)��34�3H���� (ii) ��/E����,�(iii) �
�246 (iv)�(�3�
�246�

� � Main centre of nervous system 

  (i) Spinal cord (ii) Nerve fibre (iii) Brain (iv) Cerebellum�

� (iv)� I
�J��������
6�6��6���������2���)�

� � (i)�(�����(ii) (����/���(iii) 

������A��(iv)�

������C 

  Goiter is caused due to the deficiency of 

  (i) Iron (ii) Iodine (iii) Vitamin A (iv) Vitamine C �

� (v)� �/K�����/�D)=2���)�

� � i)��/K��������6��������������� ����(ii)��/K����������������
�=�������

� � iii)�(�3�
L�2���)����0�;����� ����(iv) M&�3!A2��������6��J!����� 

 Aids is spread by - 

 i) Staying with an Aids patient 



 ii) Shaking hands with an Aids patient 

 iii) Having unsafe sexual relationship 

(iv) None of them. 

NO��+�� 
�A2�������6��&�
2!�6�
@�� 

i) �A2��6�&'6���6��$$$$$$$$$$$$$$$$$$$$$�MP�6��)* 

ii) 
�
G���������6��6���,�
.�����
��6�������$$$$$$$$$�����@�2���)* 

iii) $$$$$$$$$$$$$$$�C���!
�.��6����%�����������)* 

iv) <��
=6��6��


���6��M�'�$$$$$$$$$$$$$$$$�
4�!��)* 

v) %���2�
4�!�����
���� ����6��(
;�6���$$$$$$$$$$$$$$�
4�!�����
 ���@�2���)* 

Fill in the blank  

a) Blood is a type of a ............ Tissue. 

b) Lack of growth hormone in adult causes ............ 

c) ........... is a servious problem of environment. 

d) The age for a marriage of a gril is .......... 

e. Age at which a person in entitled to vote in India is ................. years. 

&'������2�%��Q(R�6��
=����2�%��R0R�����3�6������@��/E��0��J���

� � � (� � 0�

� (��������6����23=�� � �.������
�=�9��
����6�

� 0��&�
=��� � � 
��3�&' �4�.���

� ���
����6��;�3(�S�� � +#�
4�!�

�  ��6���������0�=6����6��� (�3�
�246�

� ���
��6�M�'��)�

� J��@�
�.�3�6��-���@�6������ 
0=�T0���

� � � � � #U�
4�!�

� � � � � �3H4����

  Make the correct pair for coloumn “A” choosing from coloumn “B”  

  A    B 

 i) Balance of a body  Antony. Von. leeuwen Hock 



 ii) Jaundice    Air Pollution 

 iii) Vehicle exhaust  21 years 

 iv) Adolescent age   Cerebellum 

 v) Bacteria was discovered Bilirubin  

      18 years 

      spinal cord 

�1�� �:�V(�:��
=
-����"�

� i)� D3A63��
�����������3G��A2���2���)*�

� ii)� �6�0�S �
��!�����=�-�������3��.�3�&����@�2���)�*�

� iii)� &'
2

2!�
�����6�&'6���6���
WF6�
�����)*�

� iv)� &��!
�.����6��6��
@H�� ���6�
=�(�)X����6�.���)*�

� v)� 
6������
�����2�D���
�2��
�6��(
������)*�

 Write True or False 

a) Pure Blood is found in Plumonary Vein. 

b) Lakhs of sperms are found in one drop of semen. 

c) Reflex action is a voluntary reaction. 

d) Industrilisation is only responsible for environmental pollution. 

e) Adolescence age is the age of tension and storm. 

-�./�"0�

(Section-B)�

(
2=��3�MP�����&'������< �����"=�%���>7���< ��

(Very Short Answer Type Question) 

(Word limit - 75 words) 

&'���7�6.�!�6�������
62�
�,�0��J���Y�

� Draw a labelled diagram of an Ear. 

(��
� 

� ��,�6�������6�������
62�
�,�0��J���Y 



 Draw a labelled diagram of an eye. 

&'���8�������ZJ/��'�����&����
L�C2�
�C&.���
=
-����Y�

� Write a short note on thyroid gland.�

(��
��

� �
� �(�63��
62���&'6���6�����2���)�Y�
.�!��6����Y�

� Describe the different types of taste buds. 

&'���>�[
,���
���6�����D��


;��6��
.�!��6�
@���Y�

� Describe the sheffar’s method of artifical respiration.�

(��
��

� &'���
�6�
�
6:�6�6���3.��
=
-����
6B��� ���6��
.�!��6�
@���Y�

 Write Qualities of first aid Helper and Explain any two qualities. 

&'���U�&\��0��;����6��M]����
=
-����Y�

� Write the aims of Bandaging.�

(��
��

� (
����%����6��&'6���
=
-����Y�
6B���� ���6��
.�!��

�2������6�
@���Y�

� Write the types of fractures. Descrbie any two. 

&'��� �̂��JD�J/������D)=����6��6��.��
=
-����Y�

� Write down the causes of typhoid.�

(��
��

� �/K�������6��6��.��
=
-����Y 

 Write down the causes of AIDS. 

&'���#?�@=����L�.��6����:
���_�J���Y�

� Describe the importance of water -conservation.�

(��
��

� &��!
�.��A����)�(��!�02�J���Y 

 What is Environment. Explain it ? 

&'���##�
6������
�����6�����������A����)�
6B��� ���6��
.�!����L��&�����6�
@���Y�



� What are the problems of adolescence explain any two problems in 

short.�

(��
��

� &�
!�
6������
�����6��

���4�2�����
=
-����Y 

 Write down the characteristics of Early adolescence. 

&'���#+�
������
������������(�2��
=
-����Y�

� Write down the difference between arteries and veins.�

(��
��

� �A2�6��6��!�
=
-����Y 

 Write down the functions of Blood. 

&'���#���2�
,6��MP�6�6�������6���
�,�
.�!��6�
@���Y�

� Describe the structure of Nervous. Tissue with diagram.�

(��
��

� 6��!�6��(�3����2�
,6�����
62���&'6���6�����2���)�
.�!��6�
@���Y 

 Describe different types of nerves onthe basis of their function ? 

&'���#1�(�[
2�6��(�;����&��@�
�.�3�
62���&'6���6�����2���)��
.�!��6�
@���Y�

� On the basis of morphology how many types of bacteria are there. 

 Describe them.�

(��
��

�  )
�6�@�
������@�
�.�3(����6��(�
��!6���:
�
=
-����Y 

 Write down the economical importance of bactiria in daily life. 

    ���!�MP�����&'������< �����"=�%���#+7��

� � (Long Answer Type question Word Limit-125 Word)�

&'���#7�&3T4��6��@���������6��


�����6�2���3��M�6��6��!���_�J���Y�

� Describe the male reproductive organs and Explain its functions. 

(��
��

� �
���2�,�6���3-��(������6��
.�!��6�
@���Y�

� Describe the main organs of respiratory system. 



&'���#8�0�=�(&��
;������6����3;������6��
=�����6������6�)�����2��6��(&������)�* 

 What measures are taken by Govt. for reforming Juvenile   

 Delinquency. 

(��
� 

 0�=�(&��;��6��6��.��
=
-����Y�

� Write the causes of juvenile Deliquency. 
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�23
�45�&'���-�./�(�
MP���#�����

69&�6������6�
@���

� (a)�� C=���� � � "� Spleen�

� (b)�� �A2���3G�6����� "� Purification of Blood�

� (c)�� �
�246�� � "� Brain�

� (d)�� (����/��� � "� Iodone�

� (e)�� (�3�
L�2���)����0�;�� "� Having unsafe sexual relation ship�

MP���+�
�A2�������6��&�
2!�6�
@��� � � � � � � � �

� (a)�� 2�=������@�� �

� (b) ��J�./������ �   �

� (c)�� &' �4�.�� � �

� (d)�� 18 
4�!�� � � �

� (e)�� #U�
4�! 

MP�����1) fluid 

 2) Simmond-disease 

 3) Pollution 

 4) 18 years 

 5) 18 years 

MP���1�����@��/E��0��J���

� ("� (�3�
�246�

� 0"� 
0
=T0���

� �"� 
��3�&' �4�.��

�  "� #U�
4�!�

� J"� �.�����
�Z��9��
�����Z6��



 Match the column 

 1. Cerebellum 

 2. Bilirubin 

 3. Air pollution 

 4. 18 Yrs 

 5. Antony Uon leeuwen Hock 

Q.4 �:�V(�:��
=
-����

� i) �:��

� ii) �:��

� iii) �:��

� iv) (�:��

� v) �:��

� i) True �

� ii) True�

� iii) Ture�

� iv) False�

� v) True�

�����"�M&���A2��3����&':��6�
�23
�45�&'���6������MP��� 
=-����&��?#�(�6�2����&��������

MP���
=-����&��?7�(�6�&'�C2�������*�

MP���7�6.�!�6�������
62�
�,�0��J���Y�

�
�
�
�
�
�
�
�
�
�
�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*����
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��
� ��,�6�������6�������
62�
�,�0��J���Y�
�
�
�
�
�
�
�
�
�
�
�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*�����"�M&���A2��3���������
62�
�,�0�����&��1�(�6�&'�C2�������*����

MP���8���������)/E�	����3����)/E�	��3S��0/E�	�@%���0/E��
�M ��0����
�6=����2���)*�
��6��������

J�6��6���,
.�����
�A��/�������6����������@�2���)*�M�����

����6����6��0��=���6��2����

6���6����6���
2�;���������@�2���)*���������������
�/E
�/E��%�������@�2���)*�

����"�M&���A2��3�����
.�!��6����&��?1�(�6�&'�C2�������)*�

(��
��
� �
� �(�63������&'6���6�����2���)*�

�#�� ��6��
)=���&)&�=���&
�
�P����
� ��63��"�����0���0/E��(�6���6��(�63���)��@�����-�������

#?����#+����2���)�*�����@�%��6��
&F=��%��������
���2����2���)*����v�(�6���6��&�
A2��������2���)�*�

�+�� D��=����&)&�=��V��&
.�!=��
� ��63��"@�%��6��&�F��(�;����6��(������)/E��2����&P���6��

2����
� ��63�����2���)*����@�%��6��&��
!�����&����@�2���)�*�

���� D�@�J!�D��!�&)&�=���6
6�T&���
� ��63��"J��2���6���
� ��63��@�%��6�� 
6������&��


���2����2���)����(:�B2�&2=�����=��
��M%�����3������2���)*�

�1�� 
D=��D��!�&)&�=�� �2B23�T&���
� ��63��"���@�%��6���;��%������������6 ���2����F�����

�����6��T&��������2��J�6����-���6�D�����2���)�*�

����"�����"�����"�����"�M&���A2��3����M&���A2��3����M&���A2��3����M&���A2��3����
.�!��6����&��&����1�(�6�&'�C2�������*�
.�!��6����&��&����1�(�6�&'�C2�������*�
.�!��6����&��&����1�(�6�&'�C2�������*�
.�!��6����&��&����1�(�6�&'�C2�������*����� ����
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;������������6���(�)�;���&���6��0=�=���� ������
���*�
���6���
2�F��

6�� ������
���*� ���������������6��� 
���6��(�)��D)=�� ������
���*�[
,���
��� 
 =����
�=��

�̀
a�6���������6���6�(����� �̀�����3�����6��0=�0)56��(&��� ������������������� ������6��6������

b&�� ���������������6��6=�J��S�
�=�6���-�����)*� �������(���5����6��@������T ./�&��&/E2���)�


D����������6���b&��M5��=������
���*�J��&'6���&�5�&�� 0�
�/�=���&��D�D/E����6���
��0����


�6=���*���� 
����=�%��� #?"#+� 0���26�6����&�� ������ �
�%��

6���S��=���� ��3T�6��

 ���*�

����"�M&���A2����"�M&���A2����"�M&���A2����"�M&���A2��3�����3�����3�����3����
.�!��6����&��1�(�6�&'�C2�������*�
.�!��6����&��1�(�6�&'�C2�������*�
.�!��6����&��1�(�6�&'�C2�������*�
.�!��6����&��1�(�6�&'�C2�������*����

(��
��

� &'���
�6�
�
6:�6�����
�H�
=
-�2��3.�����2���)��"�

�#��� ������

����6��&'���
%�6����������"�
�
6:�6�6���������

����6��&'���
%�6�����������

��
���*�@)���c ��6���
2	���/E���
2	���
����
2	�[
,����
��	��A2��,�
	��A2���Z&�6��

&'���
%�6����*�

�+�� 2�
'�
���L�.��L��2�"�
���L�.��6��d����
�
6:�6�23�B2�&2��=���=���
6�������6��6�)��

���(�������=��3(���)*�

���� ��;���63��=2�"���
�2���;��������� 
�
6:���6���6��� 
�
6:�6�6��&'�3-���3.���)*�

A����
6�&':��6� 3��!����6���������(�
��6�
�23�&'�C2�����������62�*�

�1�� 
�.�!��=����6��L��2�"
�
6:�6�6���6J!�0�������=�6�� ���� �-�2���3���23�B2�
�.�!��

=����&/E2���)*��
 �
��(���@��6��
���
2�����������2�������=�6��64��0eE��62���)*�
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�
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(B��=����M�6���S���M/E���62���)��(2��
�
6:�6�6���������=���������
���*�

�8�� ;�)�!"
�
6:�6�6���6%���%���;�)�!������-��������
���*� 
���
2�6��������6����6�� 
=���

M�����&��!C2�;�)�!���������
���*�

�>�� �� 3�%��4��"��� 3�%��4���6��&'�����6�6��
�
6:�6�����=�6���e��e��0�;����62���)*��

�����"�M&���A2��3����&'���
�6�
�
6:�6�6���3.�����6������
=-����&��+�(�6��
��
6B���+�6��


.�!��6����&��+�(�6�&'�C2��������+f+g1�

MP���U�&\��0�S;����6��M]����"�

#$� �����&\��-�C&��	��
�� 
��6���&'%��

2�������&��
������-����6��
=��*�

+$� ����=�(���6��������� ����6��
=����

�$� �A2�&'
������6���6��
=���

1$�   !�6��6����6��
=���

7$� ��@��6��6����6��
=���

8$� ���
�6���� ����
��6���.�3�����L���6����6��
=���

>$� ������6���M5����(�)��=��@������������2�� ����6��
=����

�����"�M&���A2��3�������2�
0B 3(����6���
=-����&��1�(�6�&'�C2�������*�

(��
��

� (
����%����
�H��&'6���6�����2���)"�

#$� ��;���.��(
����%���"��h���6�������������6�� �������@�2���)*�

+$� 0�3-�./�(
����%���"�J��&'6���6��(
����%���������h��6��6J!��36/E������@�2���)*�&�B23�

������36/E������������&��@3/E����2���)*�



�$� 6W���(
����%���"�&'����0W�����6��(
�����S����2��������)�0
96�=�6�@�2���)�����
D��

0�S��6�������D��@�2���)*�

1$� &A6��(
����%���"�J�����������h��6��
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